

Rationalizing Substitutions

Integrands involving $\sqrt[n]{ax+b}$ of olynomial

EX 1
$$\int \frac{x^2 + 3x}{\sqrt{x+4}} dx$$

$$U = \sqrt{x+4}$$

$$u^2 = x+4$$

$$x = u^2 - 4$$

$$du = \frac{1}{2} (x+4)^{1/2} dx$$

$$2 du = \sqrt{x+4} dx$$

$$EX 2 \int \frac{\sqrt{x}}{x+1} dx$$

$$| = x + 4 | = 2 | (u^{2} - 4)^{2} + 3 (u^{2} - 4) | du$$

$$| = x + 4 | = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = \frac{1}{2} (x + 4)^{1/2} | dx$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2 | (u^{4} - 8u^{2} + 16 + 3u^{2} - 12) | du$$

$$| = 2$$

$$|u| = \sqrt{x}$$

$$|u|^{2} = x$$

$$|du| = \frac{1}{2}x^{-1/2} dx$$

$$|2du| = \frac{1}{\sqrt{x}} dx$$

$$|2\sqrt{x}| du| = dx$$

$$|2\sqrt{x}| du| = dx$$

$$|2\sqrt{x}| du| = dx$$

$$|2\sqrt{x}| du| = dx$$

$$|-2| (\frac{u^{2}+1}{u^{2}+1} - \frac{1}{u^{2}+1})| du|$$

$$|-2| (\frac{u^{2}+1}{u^{2}+1} - \frac{1}{u^{2}+1})| du|$$

$$|u^{2} = x|$$

$$|du = \frac{1}{2}x^{-1/2}dx|$$

$$|2du = \frac{1}{\sqrt{x}}dx|$$

$$|2\sqrt{x}|du = dx|$$

$$|2\sqrt{x}|du = dx|$$

$$|2u|du =$$

Integrals involving
$$\sqrt{a^2 - x^2}$$
, $\sqrt{a^2 + x^2}$, $\sqrt{x^2 - a^2}$, $a \in \Re$

a) $\sqrt{a^2 - x^2} \to let x = a \sin \theta$
b) $\sqrt{a^2 + x^2} \to let x = a \tan \theta$
c) $\sqrt{x^2 - a^2} \to let x = a \tan \theta$
c) $\sqrt{x^2 - a^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \sec \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to let x = a \tan \theta$
e) $\sqrt{a^2 - x^2} \to a \cot \theta$
e) $\sqrt{a^2 - x^2} \to a \cot \theta$
e) $\sqrt{a^2 -$

Completing the Square (Use this strategy when there is a quadratic expression in the radical.)

Conclusion

Ins forms

D'Ilinear polynomial

try u= Thinear polynomial

- (2) Trig sub.
 - (a) \x2- a2
 - $(4)\sqrt{x^2+a^2}$
 - (c) \(\(\chi^2 \chi^2 \)



- $\sqrt{x^2+a^2}$ $\tan \theta = \frac{x}{a}$ $a \tan \theta = x$

(0)

